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QUESTION 1

By default, who is granted access to the sysadmin database?
A. Nobody

B. PUBLIC

C. The Informix user only

D. root

Correct Answer: C

QUESTION 2

Which of the following statements is True about the Onstat utility?

A. It cannot be used to retrieve locking information.

B. It consume a lot of the system\\'s resources andshould be used infrequently.
C. It doesn\\'t place any locks on shared memory.

D. It can be used to view table data.

Correct Answer: C

QUESTION 3

In which of the following scenarios is Informix the best fit?

A. Applications with variable and dynamic data records.

B. Large data warehouses requiring cubing and complex multi-dimensional queries.
C. Applications requiring dedicated hardware as part of the solution.

D. High-transaction OLTP workloads.

Correct Answer: D

QUESTION 4
Which of the following is a Database-level privilege?
A. CONNECT

B. EXECUTE
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C. SELECT
D. REFERENCES

Correct Answer: A

QUESTION 5

What is an advantage of using Multi-Index scan?
A. Multiprocessor support

B. Multiple disk drive support

C. Index keys are stored in compressed format
D. Less indexes need to be defined on a table

Correct Answer: D
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